How to use I P101 in paired node

1. When we need to use I P10l in paired node (serial tunnel node), you
must
two |1 P101 box in hand.

2. You can use TCP or UDP node to have such function. W suggest that
you
need to use TCP node.

3. The mgjor action for IP101 to work in paired node (serial tunne
node)

is to set one IP101 in "server" node and the other in "client"
node.

4. Because we need to specify the renote |IP address for each |P101
box. So

need to use fix I P nmode and not DHCP node. Because we can not
confirm

| P address assigned to each | P101 box in power on condition (Each
time

you may have different I P address from DHCP server).

5. In follow ng exanple we may have one | P101 box with |IP address
192.168.1.3

and use TCP port 4000. The other |P101 box with |IP address
192.168.1.4 and

use TCP port 4000.

a) In the 1P101 box with I P address 192.168.1.3 we need to set
renote | P address = 192.168.1.4
serial port baud rate and protocol to neet your target val ue
connection node = server
TCP port number = 4000
b) In the 1P101 box with I P address 192.168.1.4 we need to set
renote | P address = 192.168.1.3
serial port baud rate and protocol to neet your target val ue
connection node = client
TCP port number = 4000
6. In above setting we can have both I P101 box connectted in paired
node
upon power on condition. The serial port to connect with | P101
will be
seen as connect directly.

7. If you still had any problemin paired node, you can send e-nai
to
rayon@sl. hi net. net



